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1956 1978 1998
1-4 1957 1977 1995
2-3 1957 1976 2001
2-4 1957 1976 2001
3-3 1955 1979 2001
5-2 1957 1977 1995
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7-1 1955 1979 2001
1995
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40
1978 m U™
1998 61 U™

17




32

1978
52

D
a)1956
1956

b)1978
1956

€)1998
1998

1956

1998
2001

1979

1956

13

1978

1955 30 1957
1955
1957
1976 51 1977
54
1995
40
1956
1956 22
1956 1978
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1956 1978
1978 1998
1991
2)
a)
1956 477 kn? 256.4 km?
54 86.7 km? 18 68.7 km? 14
17
1956 1978 1998
( km? ( km® ( km®
3.7 7.5 12.1
0.8 1.6 2.5
0.1 0.0 0.0
0.0 0.0 0.0
47.4 139.4 175.0
9.9 29.2 36.7
256.4 195.4 179.2
53.8 41.0 37.6
0.0 0.0 0.4
0.0 0.0 0.1
86.7 60.5 68.0
18.2 12.7 14.3
13.6 13.3 12.7
2.9 2.8 2.7
68.7 59.8 27.4
14.4 12.5 5.7
0.0 0.8 2.1
0.0 0.2 0.4
476.6 476.8 476.9
100.0 100.0 100.0
1978 0 km? 0.003 km?
0 km? 0.000 km?
1998 77.2 km? 256.4 km?* 5 179.2 km?
1956 41.3 km? 8.7
127.6 km? 3.7
km? 3.3
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1956 37 25.5km® 1998
1956
1998
1956 1978
92 km? 19.3 1978
1998 20 35.6 ki 7.5
1956 1998
23 15.6 kn?
1956 1978 22 20
1978 1998 20 1956 75
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1978 1998 20
c)
1956 1978 57 . 1km?
35. 4Kr? 1961
36
1956 1978
k
1978
1956
2.4 0.0 0.8 0.3 0.2 0.0 0.0 0.0 0.0 3.7
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1.7 0.0 40.6 2.5 2.4 0.2 0.1 0.0 0.0 47.5
2.2 0.0 57.1 185.5 9.2 0.7 1.6 0.0 0.0 256.3
1956 1.1 0.0 35.4 4.9 42.9 0.7 1.7 0.1 0.0 86.8
0.1 0.0 0.7 0.5 0.8 11.1 0.5 0.0 0.0 13.7
0.2 0.0 4.6 1.7 4.8 0.7 56.0 0.7 0.0 68.7
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.2
1978 7.7 0.0 139.2 195.4 60.5 13.4 59.9 0.8 0.0
1978 1998
19km?
15km?
1978 1998
k
1998
1978
3.9 0.0] 2.0 0.9 0.0 07 00| 00] 00 0.0 7.5
0.0 0.0] 0.0] 0.0 0.0 0.0 o0 00 00| 0.0 0.0
48] 0.0] 15.0] 8.6 0.0 103] 06| 01| 00 0.0 139.4
13 0.0] 190.4] 1546 0.4 52| 07| 370 00 0.0 195.3
0.0 0.0 0.0] 0.0 0.0] 0.0 00| 0.0] 00] 0.0 0.0
1978 18] 00| 188] 7.7 0.0] 2.4] 12| 51| 01| 03 60.4
0.0 0.0 0.8] 0.8 0.0] 131 95| 0] 0.0 0.0 13.4
0.3 0.0] 12.0] 6.7 0.0] 1.6 o0.7] w50 1] 0.0 59.9
0.0 0.0 0.0] 0.0 0.0 0.0 o0.0] 0.0] 08] 0.0 0.8
0.0 0.0 0.0] 0.0 0.0 05[] 00| 0.0] 00| 0.0 0.5
1998 2.1 0.0] 175.0] 179.3 0.4] 68.0] 12.7] 27.4] 2.0] 03
19 1956 1978 20 1978
1998 0.2 km*/
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1956 1978 2.60 km?

1.61 km?
0.42 km?
0.22 ki? 0.11 km?
0.22 km?
0.21 km?
1978 1998 0.97 kn? 0.76 kn?
0.95 km?
0.94 km?
0.73 km? 0.34 km?
20
0.52 km? 0.43 km?
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68.7 -
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59.9 -
27.4

3.7-7.7

2.60/

0.21/

0.42/

0.22/

19

75-12.1

0.73/

0.26/

20

200
100
475,
139.3
10
1.61/ km?
0.20
km?/
82685* 1956
: 1978
1956 1978
200
100
139.4,175.0
10
0.94/ k?
0.20
0.52/ Kkm/
60.4 - 1978
68.0 1998
1978 1998
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1956 1978
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